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INSTRUCTIEONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
questjon paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

»  The serial numbers of test booklet and O.M.R. answer sheet
are same.

+ All pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1 to last S. No. 100
are printed and pages from S. No. 1to last S. No. 16-are there
in the question booklet. A

In case of any discrepancy/defect the candidate should
immediately report the matter to the .Invigilator for replacement of
test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.

-3.  Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be treated as
wrong answer.

7. Negative marking is applied, one third (1/3) of the marks
allotted to the question will be deducted for every wrong
answer. Wrong answer shall mean an incorrect answer or

multiple answers..

8. Each question has four alternative responses marked éeriaﬂy _

as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/Bluetooth Devices or any other
" electronic gadget in the examination hall is strictly prohibited.
if any such prohibited material is found with any candidate,
" strict action will be taken by the Board against him/her as per
- rule. ‘ }
10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would be liable to
‘be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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1. Which of the following statements is/are true

in relation to Abhaneri?

(1) The Harshat Mata temple here was built
by the Feudal Chauhan’s of Pratiharas,

(2) The Chand Baori of Abhaneri is world
famous.

(3) There is a famous temple of goddess
Pippalada. :

Choose the correct code -

(A) Only (3) (B) Only (2)

(C) (1) and (2) (D) (1), (2) and (3)

I B el N Prefrfem W il

BT/ B Rpeg |8 37

(1) &t (fifa & amn wR wfiert @ g

A ¥ A o
(2) el &1 AT aradt fwa frg §
% TE1 31 e W a1 iR wRig 2

e
(A) Bae (3) (B) ®aet (2) -
C MRy @), ke

How many languages of Rajasthan are
mentioned in Kuvalayamala?

(A) 08 (B) 18 - S
(€) 06 (D) 28

RIATTAA H IR B ) wrerei. oy
Joeoig 8?

(A) 08 / (B) 18

(C) 06 (D) 28

\3/ Which is called the emergency hormone in the

human body? ) ~
(A) Adrénaline (B) Progesterone
Y)(C) Insulin (D) Thyroxin

HME IRR # {59 s €Y snurasenT seE

ST 87 / |
\?ET gfgafer (B) groieg=
C) sygfer (D) aRRifda
Whichis the bi ggest Thermal Power Statioh of
Rajasthan? ' -~ ;
(A) Barsingsar Thermal
-(B) Giral Thermal
(C) Kota Thermal
(D) Suratgarh Thermal °

\/According to census 2011, which district had

the lowest sex ratio in the age group of 0to 6
in Rajasthan?

(A) Dholpur (B) Jhunjhunu

(©) Dausa (D) Ganganagar

SR 2011 3 orger, ST 4 0¥ 6

® Y T ¥ e i e o 7 17

(A) gy . (B) 5.
(C) S (D) TR
Rajasthan’s famous folk art “Bewan” is -

(A) A temple shaped figure made of wood with
doors. « . -

(B) A sword shaped figure made of wood
which is used in Ramleela drama.

©) Presenting the life of a folk deity through
paintings on a khadi cloth.

(D) A throne made of wood on which the idol
of Thakurji is adorned and seated. -

ISR B 9fig i Sorl “SarT § —

A puret ggq ard & PAffT wRega
IHHT | : -

B) I3t ¥ fAffa qearTm el R
SUGRT elle Aed ¥ fbaT Wi

Cudl & F98 W A Ta @ offad & -
ot & amaw & e ey |

0 7wt % Pffa Risem R W srash
@ AR B HRT @ Yorr W 2|

Which one of the following is not correctly

matched?

(A) DOTS - Tuberculosis

(B) AB* Blood group —Universal Donor

- (C) DPT - Vaccine '

(D) Adrenaline - Hormone

Preferfe % ¥ SVTeT e 7 &

(A) DOTS — &7 A7 '

1.7 By AB* 3 WYE — WdwmEn

(C) DPT — &
(D) yf§fer — eTHi

-~ In which part of the body do women wear
uDamana” omament?

' (A) Feet (B) Ears
T;g? NISTRIM &1 Ha9 F97 arfi faega (C) Nose 0(D) Finger
{7 SR g APEOT Rt TR D e
(B) fiRTer enfer @ i (B)
(C) prer add k5 & i
il () =1 ~ (D) 3
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©

10.

Batool Begum is related to

tradition of Rajasthan? Wt BgIng
(A) Qawwali singing (B) Gandharva Gaan
(C) Mand singing (D) Phad singing

I I T T ISR A e T
WRAERT ¥ 87
(R) FHearent T (B) ud 9
(C) wis A, (D) wg e
Match the following -
Institution
(A)  Rajasthan Seva Sangh
(B)  Desh Hitaishini Sabha
(C)  Veer Bharat Sabha
(D)  Sarv Hitaishini Sabha
Founder
(1) Vijay Singh Pathlk .Ram Narayan
Choudhary, Hari Bhai Kinker

(2) Kesari Singh Barhath

(3) Swami Gopaldas

(4)  Maharana Sajjan Singh

Choose the correct code -
(R) A-1,B-4,C-2,D-3.
(B) A4,B-2,C-3,D-}
(C) A-3, B-1, C-2, D4 -
(D) A-1,B-2,C-3,D4

gﬁmﬁﬁ?—

(A) Wﬁ'@lﬂT?{H

B) < fRdfyol & ®

(C) R IRT G

(D) w4 ffRol |

(1) fora. Ris df, mea‘}aﬁ
R fhar

2 oua g IRES

(3) @ MaTererd

. C (@) FEwn oo g

TWaE T — .

(A) A-1,B4,C-2,D-3

(B) A-4,B-2,C-3,D-1"

(C) A-3,B-1,C-2,D-4

(D) A-1, B-2; C-3,D-4 .

Which district of Rajasthan has got the second
place in the country: under the “Prime
Ministers Housing Scheme” in June 20217
(A) Jodhpur (B) Ajmer/ @
(C) Jaipur ™~ (D) Dungarpur

12,

13.

14.

S 2021 3, “FHFEE A derr @ awd
W%ﬁmmaﬁéﬂﬁww

T g3T?

(R) SRR (B) aﬁlﬁ?

(C) SR (D) SRR

Where “Rajiv. Gandhi Fintech Digital

Institute” is to be established?

(A) Kota (B) Udaipur

(C) Jaipur (D) Jodhpur

w3 T PR e sfeege” a3
RIUAT B8l TR B AP ;

(A) preT | (B) ITAPR H
©ERA (D) iTErgR A
Pre-Cambrian rocks of Rajasthan are basically
described by -

(A) A.M.Heron (B) La Touche
(C) M.S.Khurana (D) C.A.Hacket

o § f-dfgm AgEl B SR

ot fras grT feam T 87

(A) TUH R (B) & S~

(C) THUHRIT (D) Hr.u.ede

‘Which statement’ is correct about Bhakra

Canal project?

(A) Itis ajoint project of PunJab Haryana-
.. Rajasthan.

(B) It provides mgatlon to- Hanumangarh
' district. - : X

'(C)  Rajasthan’s share is'17.22%. .
(D) It irrigates 2.3 Lakh Hectare of

agricultural land.
Correct code is - ; )
(A) A,BorC (B)BorC
(C) A,BorD JDYB,CorD

ﬂmﬂﬁqﬁma%aﬁﬁaﬂﬂwm

I '?

(A) TE GoTa—gRaTT aﬁvw @l
®) T TS e B R gfen

(©) Wm%%;nz%h

(D) s 23 9 SR @
Rifra el 8- ﬁﬁ

e e §

(A) A,B3iR C

(C)A B3R D

" ®BaIRC.
() B, C-aiR D
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13, When did Maharana Pratap establish his new . I BT 1R HEt Rerd 27 : 5
capital at Chavand? (A) TR © (B) SR '
(A) 1576 AD - (B) 1594 AD ) GEHEQ‘ D) SIgYyX
(C) 1582 AD (D) 1585 AD 21, .—(9' o)
) Which of the followmg pairs (Book —Author)
HERION g =?‘r JT T S gEvs § is not correctly matched?
:1;‘;! RfUa B : | (A) Suraj Prakash - Karnidan
1576 %. AB) 1594 %, | (B) Kirtar Bavni - Kavi Isardas
(©) 1582 %. (D) 1585 . :g (C) Desh Darpan - Shankardan Samaur
16. 'I't_lekfct)undczla_tion ston]e (Zlf wosrtlhd; ]tjhiégzlgrgest ) (D) Ragunath Rupak - Mancharam Sevag
cricket stadium was laid on eb, at- ™ ﬁ'l:ﬁ?—lﬁilﬁ oRgP
(A) Sanganer (B) Kishangarh =] ) T2 @ g B, )
(C) Chonp (Jaipur) (D) Jodhpur ;S '
e & @ w9 a3 frde R &1 "‘Bﬁi;w o “i':”
Riam=amd 5 ®Ra¥), 2022 S Hat fhar T = (B M — B T
(A) |ITTAR (B) fher g - (€) aET YT ~ ~Y[HREH HTHIR
S i () (D) ST by {O) XTI 0 — oRR e :
17. On 19 December, 2021 which scheme has {9 2 When was the “Jaipur Theater Fest” organized
been started by the departiment of Women and 3> in Jaipur? ¥
Child Development in Rajasthan? :g - (A) April, 2022 (B) May, 2022
fg Jagrati Bal Vikas Yojana ;; (C) January, 2022 © (D) March, 2022
Udaan ke Sath Shakti Yojana ' "SR Rrex am,a—., AR :
(C) Balika Vikas Yojana ' :: f&ar T el g7
RIS ¥ Af¥e Td a1 Rer R g (©) S, 2022 (D)#r%i 2022
aferd forer AT B 19 RERR, 2021 B fry23 A e il iy
" ey The escape velocity of the earth is - -
(gA)” : Rl 5 59 (Br11.9km/sec . (B) 13.6 km/sec -
: ™) (C) 19.2 km/ D
95) ! R 1 TR & Seci -, ()112km/sec
{©) i e @ = TR iR oy
(D) S, T, v S Ao 0 W) 119 B/ dvs (B) 13.6 B0/ s
18. Which is the hardest substance in the human e } © 192 ﬁ;ﬁ'/ s (D) 11.2 A/ 5
body? 24.  First mammal to be cloned was -
(A) Finger Nails - (B) Tooth Enamel (A) Frog (B) Rat
(C) Skull Bones (D) Kneecap :g - (C) Sheep (D) Goat
Ad AR BT 6 BORAH AT & — 5y el AT 9 9T SR XTIy o7 —
(A) STiferal & g ¢8) Sidl &1 3¥aa (TRA) :g (A) Ao B)ggr . |
Cumst @ egst O g degdt 2 (O (D) Ty
18- Vivaan Kapoor is related to which sport? g:_’ 25. Involuntary acnons like blood préssing ani
(A) Boxing ~ (B) Kho - Kho - vomiting are cOntrolled by which part of
(C) Kabaddi (D) Rifle Shooting hindbrain? .
e SEN A) Cerebrum, (B) p
3 ( \ ons '
*r E‘W ¥ e ﬁB) g ;; - (C) Medulla oblongata (D) Cerebellum
- (©) Pt (D) 13wt T X ol SEl SR sRifes foramait 1
- 260 ~ Where is Lok Kala Mandir located? $ 0 ? ﬁ}m TR,
(2) Blkz:.mer - (B Jo'dhpur (A) -\qs\,ﬂ-q | (B) gty
(C) Udaipur (D) Jaipur (C) gzt TEAIer /(D)/ Wem
118A - 3:8 Page 4 of 16
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26. Which of the following fore
e o tho Pla egt"? sts are often called freferRaa o gafera aifog —
(A) Monsoon forest (B) Tundra forest (A) o
(C) Amazon rain forests (D) Taiga forest ®) 3 N
Prfrfa 3 & Bt a0 @1 s “gedt T © s
:f:)m 'EZ:TW L 'Gﬂ:g ST 87 . C"_: (D) TF'TT'T’W '
AT ) gUsT 99 30 e / JAMCR
. OrawsE auf a7 (D) &7 99 g:u M  30°12" SR
. Which one of the following pairsC] (I 69°30° gd
ey eem ) sl - - I, 2995 2
(A) Ojhiyana - Chittorgarh 4 av) 7817w E
(B) Sunari - Jhunjhunu ¥ [ & € —
(C) Gilund - Rajsamand (A) A-III, B-1I, C-1V, D-I-
(D) Jodhpura - Jaipur N V:z)/g_m, B-II, C-I, D-IV
ﬁmﬁf@a gm‘f # ¥ Bar g (g-qm _g; ) A-11, B-III, C-1V, D-I
!ﬁrﬁ‘ﬁ & 27 i (D) A-I, B-I1, C-1V, D-III
r.(}'{ Gﬂ‘f?;I'HHT EE 30. Who has been awarded the Sahitya Akademi
(B) g — E?rﬁ et Award 2021 for Rajasthani language?
(C) s — o SE (A) Namita Gokhale . (B) Meethesh Nirmohi
24 %GTE_? " ‘_'r??]_‘r ' < (C) Raj Rahi (D) Anuradha Sharma
. ch of the follow .
Issuers) is not correctl)l'nnglatl::?:;fl'?(cumncy wifgca m W_ZOZI RererAY T
:g; gijajlf::hahi . P;likancr . B forg frey fRar wmar &7
ajshahi - Jodhpur J Pt
©) Akjhaishahi Jaips’almer gr () e vireret G
(D) Jhadshahi - Jaipur C‘\ R A e . (D) 3T T
fyrefoRad § @ B=ar IE (518 — ﬁm'ﬁﬁ) 31. Which of these statements is/are not true in .
gafera 781 87 o relation to “Gentlemen agreement”‘?
(A) e — aﬁa,-ﬁ? 2 € = (1)  This agreement was done in 1942 A. D ;
(B) oIS — SRR b (2) It is related to the princely state of
(C) 3reemdl — ST £ Jhalawar.
jprm?ﬂ‘eﬁ TR o : 3) Accordmg to this agreement the
'29. Match the following — o princely government will not help the
; District i) British in future.
(A) R : E: Choose the correct code -
(B) - Jaisalmer ] (A) (1) and (2) (B) Only (2)
(C) Dholpur g; (C) Only (3) (D) None of these -
(D) Ganganagar I "SeeHT giHe & <y § Frefiad § 9
Laotltzlfile/Longltude, FrT /P T T A& &P
g%) Zgbio’E (. I\ mﬂﬁe 19428, # o oI}
(I 23°3'N (2 TEST Way sernars Rarad W 2
(IV) 78°17E (3) 39 yfhic & IgaR Rameft RaR
. Correct code is - : sy § Sl @t we| T8 BN |
(A) A-IIL B-IL C-IV, DT~ | & 3 gy - |
‘ﬁg QEIBBIE (C::;’VD;X e S A (1) iR @ B DI (2)
(O) AL B CIV, D-IT_~ - (© e 3) (D) 577 & P1g T
118A - 36 Page 5 of 16
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32. Red and yellow soil is found in which district frefafaa § @ s @ sy e
of Rajasthan? T8l 87
(3) Sawai Madhopur-Kota-Bhundi-Bhilwara (A) Rieife E (B) STEBNI
(B) Sirohi-Ajmer-Tonk-Jaipur ©) : N
(C) Sawai Madhopur-Sirohi-Bhilwara-Ajmer QIR 407
(D) Ajmer-Sirohi-Dungarpur-Banswara 37. Match the following —
TR @ fob Rl # arer et F=T tns‘ Mine
St 27 (A) Degana
(A) Farg ANR-Ble-g—fiearsT (B)  Mando-ki-pal
(B) RRI&—sroriR—~Cie—wr gy (C)  Jhamar Kotra
(C), ward Hﬁﬁg?—mﬁ—ﬂﬂamm—amﬁ? (D)  Goth-Manglod
({f) IR~ AR - FRYR—grareT Mineral
33. In 17" century’s *Stspdis-Rathore Alliance”, () © Tungsten
the rural of Mewar was - - (I)  Florspar
(A) Maharana Raj Singh - | 5 p 1) Rock Phosphat
(B) Maharana Amar Singh - II EIV; i
(C) Maharana Jagat Singh - 1 C yg o
(D) Maharana Sangram Singh - 11 ( A(;rrect codels -
178 T & “RrehRar—es TodE ¥, ot O DIl
i o (B) A-1, B-II, C-III, D-IV
(A)HERTT 35 RiE - 1 (C) A-11, B-I, C-11I, D-IV
_(B) MR 37R Rig - 11 (D) A-IV, B-I1, C-TII, D-I
(C) 7RO ST RiE -1 gifera BIRkR —
(D) weRmm Hu™ RiE - 11 1
34. Haveli painting belongs to which century? (A) 3.‘”3"
(A) 19" century (B) 18™ century (B)  Wis-H—urer
(C) 20™ century (D) 17 century (C) PR Preer
&dCll el fbw wramedl 1 37 27 (D) Me—wHraE
(A) 1967 wrmedt (B 184 wameht < | Lluia
() 208t Tt (D) 173} wramed) M WE"W“ 5
35. Which is not correctly matched? (?I Fr wheks
(A) DB w climate region — Northern (Im)
Rajasthan _ (V) e ' ,
(B) CA’w chmate region — South-eastern - 8 9e ® - =
Rajasthan (A) A-1, B-II, C-1V, D-II]
(C) EA’d climate reglon Eastem Rajasthan . (B) A-I, B-II, C-II, D-IV
\ (D) DA’w climate region -~ Mid- Ra;astl}an (C) A-I1, B-1, C-II, D-IV
DT g e gafea E 8 (D) A-V, B-IL, C-IIT, D-T |
(A) DB’w STeTarg user — S8} 'ﬂTﬂWFT 38. Late. Hisamuddin was an accomphshed artist
(B) CA’w Serarg Wael — qfyor—ggdi - TR of which Handicraft?
STEA’d wierarg Woer — qdf rower | (A) Jatt Patti craft (B) Meenakari
(D) DA’w SicTaryg — T IR (C) Usta craft (D) Thewa craft
36. Which one of the following is not an _
@ fearda fa sﬁﬁm
antioxidant? _ FATPR N7 . ¢ Rgew
‘J (A) Vitamin E (B) Lyco;.)enc (A) 5 q&) el (B)
(C) Aspartame (D) Selenium (©) Sear TP (D) a1 oy
118A_8;g Page 6 of 16
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39.

41.

42,

Identify the chronology of  the following
Battles -

(1)  Battle of Haldighati

(2) Battle of Khanwa

(3)  Second Battle of Tarain

Choose the correct code -

(A3, 21 (8)1,3,2

©1,2,3 (D) 2,3, 1
for=feRaa g&1 &1 WEl Hieisd gig —

() s &1 g -

(2) @Fal B gE =i

(3) oxzA @ fadg gg

el Ae gMAe —

(A) 3,2,1 | (B) 1,3,2

©1,2,3 (D¥2,3,1

How is the ancient historical place “Aashram
Pattan” known in Modern Times?

(A) Bhinmal (B) Keshoraipatan

(C) Jhalrapatan (D) Viratnagar

e e we I trqe:r; il

qga & —
) BIERIUTCT

(A) W91
(C) STeRMgTeH D) faRte IR

The founder of Ren Branéh of Ram Snehi Sect

was -
(A) Saint Haridas Ji Kt
(B) Saint Ram Charan ji o D

(C) Saint Dariyav Ji e E

(D) Saint Hariram DasJi =~

TEE. TRET @ Yo7 e B Hadd o -
(A) ¥id sRERT St

(B) e XFTERYT Sl -

(C) i <Ram@ St

(D) < sRvm a1 Sl -

On the second day ::)f marriage, reception and
feast is organised for the newly weds by the
groom’s side. What is it called?

(A) Badhar (B) Ku

(C) Aulandi (D) Aano |
fraTe B AR R ¢ ugr g7 AL B e
angiiate TARE 7 Mt B 31 PEA &7
(A) 9eRR (B) @,

(C) aireidy o it

 (B) 3T AR W
- (C) €. DU arelt

43. Which is not correct?

(A) Mechanized agriculture is practised in
Ganganagar district.

(B) Humid south-eastern plain is suitable for
soybean cultivation. :

(C) Mahi-Kanchan is a high yielding variety of
rice in Rajasthan.

(D) Suratgarh agriculture farm is established
with the help of Russia.

PIET I 87

(A) Fifye PR TR R ¥ wafera 21

(B) ad TRy gt e WEEE @ W
ford Sugad 2 | '

(€) Fél—Fgd IAE H AEd Bl S
Jaaredar 2 arell f 21

(D) e PR GE B RO wE Bl

eI 4 B T )7

44. Pancreatic juice contains which enzyme that

breaks down emulsified fats?

(A) Pepsin (B) Trypsin

(C) Amylase -(D) Lipase

srTed v § P a1 gugd gk &
TaeipIES a9l BT gl &7 < '
(A) ofta= (B) feufy

(Srome - (D)

45. Which scholar made a scientific division of
Rajasthani painting style in his book “Rajput

paintings™?

(A) Dr. Shridhar Andhare

(B) Ananda Coomaraswamy -
(C) Dr. Fayaz Ali

(D) Eric Dickinson - : ,
e RgM 3 ol gras R Ui |
o R At @ dsnfe faweE
fear? -

(A) Sf. $TER 3R

(D) TR Rfpeg” _

46. Who is the brand ambassador of Beti Bachao

Beti Padhao campaign in Rajasthan?
(A) Sarika Gupta (B) Avani Lekhara
(C) Mithali Raj (D) Gulabo Sapera

9IS TNSY B 87
&) TP TR BT e e
(C) faredy o1 (D) TTET HURT

118A - 36
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47. Sarvottam Vilas, Gaj Vilas, Jawahar Vilas is 51. The following table shows number of.
situated in which of the following forts? registered vehicles in a city (in lakhs) in
(A) Jalore fort (B) Mehrangarh fort different years,
(C) Sonargarh fort . (D) Bala Quila f= aftret vo e # dofipa Al @
iR, T R, sEe e AT (et ¥) fifty st § i 21
ﬁ‘:ﬂ%{%ﬁ ¥ 9 5w gl 4 e 2 ~ [\ Year(@¥) [ 199091 | 2000-01 [ 2010-11
WaRRk gt (@) T
(C)'\'-'{‘[‘gﬂﬁ LY (D) greT fdam, -, Vehicle -
48.. Who iscalled the *forgotten Hero of Marwar’? (are=) i
(A) Rao Gangdev  (B) Maharaja Ajit Singh Car ®R) [477 [927  |25.38
(C) Rao Chandrasen (D) Sur Singh Bus (89) 1.02 1.71 3.51
"ARATG ST AT 10’ 5 Par o | . Truck (5) (246 [504 |11.04
e 8 X | !  |Bike (M/eR[081 |2.85 [45.27
W) IgiTRT (B) WERTN sl Rig W) |
(%) ?ﬁ?ﬂm, (D) g g _ Others 0.12 |1.08 11.82
49. Whicﬁgat'ement is correct? (sr=) ' :
Statement A —Sambhar is the largest salt Total (®) [9.18 1995 [97.02
water lake of Rajasthan. : z
Statement R — Sambhar lake is located : If percentage of increase of total number of
between 74° to 75°E % ‘ vehicles from 2000-01 to 2010-11 is made
) longitudes. 8 equal to percentage of increase of total number |
Correct tode is - v e ey of vehicles from 1990-91 to 2000-01, then
(A) 0{1’- Riscorrect - total number of vehicles in 2010-11 would be
(B) Ofily A is correct equal to (in lakhs)? '
(C) A(%R both are correct : afe 20@-01 | 2010-11 9F =Y E IR E|
(D) A0ER both are not correct .@ e 1 AR 1990-91 % 2000-01 @ e
PITH PUT WA 87 S ! e B HEAT B YRR B /IR R, G 2010-
.Wﬁ—ﬁmﬁmﬁw 1 W TS B e wEmr awEx Eph
gy T oé . N (R ) \
mﬁ%l— ?ﬁﬁ@mgﬁg I74 75° gdt ai"lﬁilx\qp‘ (&) 43.36 | \43742
& T - ‘ X & -v"‘sz (C) 425 (D? 43.95
of Eﬁfﬁ[ﬁ g . 7/ 6\ qj\ a0 - The average of 25\resul'ts 15 18. The average of ‘
(B) DI A W & 4 ,J\\p% first twelve of them is 14 and that of last
(©) A 3R R 31 ey 4 0 twelve is 17. Find the thirteenth regy; -
(D) A 3R R <M} Wy 78 & / ()78  ®
50. Which organism causes the Kala-azar disézfge? (e 66 §5 (D) 74 ‘ .
(A) Plasmodium (B) Amoeba . 25 ORomET BT AT 18 R, Ry UYH IRE
(C) Leishmania (D) Planaria %7 3l 14T Sﬂ%w.m B T 17 8
- BT T PIA-IGR T BT BRT &7 | 13&“%“3’3[%?{
(A TR (B) amfar | (A) 78 i
(@f cirerifrar,/ cherifra () e - @6 @7
. : \_
118A - 88 " .Page8of1s
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53. Acubeis coloured blue on all faces. It is cut into
64 small cubes of equal size. How many cubes
have only one face coloured? '

UF ﬁa TIAAT ST v‘;—z:m‘ &1 1/8% AT
gaT &, AR 78 et 64 9, S &, o 2ad

(A) 24 (B) 8 - ' ;
(C) 16 (D) 4 (A)81 ¥, (B) 75 ¥. \®
o T B A BAd! B A A ©72¥  (O74 ¥ @‘1/8*
2| SH G PR @ 64 BIC T # HIcT SN 57. Find the wrong number in the series —/_ 9
2 i B A T B o g &7 2880, 480, 92, 24, 8, 4, % 1%
24 (B) 8 ' : (A) 4 T (B)8
(©) 16 (D) 4 . @7, (D) 480
54. If a mirror is placed in position of LM, then c_'.": SO N rera T I By — -
which of the answer figures is the right mirror O\l 2880, 480, 92, 24, Sj@ =L
image of the given question figure? < (A) 4 — =~ 7"B)8
aﬁwwﬁéﬁﬁm_—ﬁzﬁqﬁ% 2 " (D) 480 E
Ug AHpia HT ufafimg € o9 odur sre=k, 58 How many 3's are there in the given sequence
LM. 3 Rufa 3 < HAR? _whic;hd.arel n?iilller %rﬁcegsd by 6 and -nor
: B, _ immediately followed by 97
Quectiap e ¢ Series ;9466 %9593789139639
_ A 17 B 3 (© 47 O 2
— o ¢ P o i R Q38 R R e
o X 6 3k g 1< ¥ 9 el s &7 S
CREDE 9366395937891639639
i A& @1 @3 © 4 O 2
@ "'""7\ 59. In a tournament 14 teams play league matches.
(s N g’ . If each team-plays against every other team
W (D) - [ \» once only then how many matches are played?
' g A T W s (B) 105
, o W o@©78 . (D9l '
55. Six persons are sitting in a circle. A is facing 0,.; le - T ?ﬁ-ﬁg F 14 & < = @Eﬁﬁ ¥ afy
B. B is to the right of E'and left of C. Ciis to gr & yae A = gl O & Raemes dId @
the left of D. F is to the right of A. Now, D c:!‘ £ IR Qerh 2, A fe #9 o Rl —
exchanges his seat with F and E with B. Who <% 77 () 85 - - (B) 10 =
will be sitting to the left of D? = 8/ ©78 01 T W
(A) B " (B)E .ﬁ_\ 5\10- l}lead_ the following information and answer ‘
: - T the given question - '
@©)D - (D) A " ‘<(\// i ji;arti 1\1; oizier lt)h:;m Muskan. Gajendra is older
: : : : than Muskan but younger than Aarti. Keshav
6 afda @ %ﬁ LS %,l A, ;ﬁﬁﬁ ~is younger than Ra?endra and Muskan.
2| B,E® i 3R & AR C* : lgep - Muskan is older than Rajendra.
C,D® T AR-ELF, A Tl 3R g 39, g; gl]osg age is ‘between Rajendra and
D,F& & gt Ae T e P O gjendiay .. :
AN B AR E R = s
5, | ‘ : &) 4 (C) Aarti (D) None of these
(A) B (B) E <t ﬁ‘*‘ﬁ@ﬁ,- _ a1 13 ok Ry Ty F
(C) D A oy JWE — : : L
56. A tree increases annually by 1/8" of its height. ‘ %S?I'\’Eil, qehT gL B | T, R W a9
‘By how much will it increase after 2 years, if , oifd :é! & EﬁETI S Q BICT ¥ %ﬁdsgﬂgﬁ_@ i’gﬁ'\’t_
it stands today 64cm high? 9 IO % & 4 27
(A) 81 cm (B) 75 cm » (A) DI (B) TR
©72em B (D) 74 cm % © s D)z < Big TE
118A - 3 U Page 9 of 16 @
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The minimum number of stralght lines

61. Raju’s father’s age is 5 years more than three 65. e is —
times of Raju’s age. Raju’s father is 44 years required to makeﬁthgéog%vgng rf%l{: AP
old, then age of Raju is - YA & - [ W g~
(A) 12 years (B) 39 years e )
(C) 13 years (D) 14 years : % \ ‘
w%%aﬁwwaﬁw%#—rgﬁ R E j
459 afs &) <o fﬁmaﬁmg@a&_ﬁa,g 1 \‘fj
&, T X1 A g Bl — WW_¥F = (A) 12 (B)
(A) 1 (B)39qd ~= (©) 9 10
: 134 - (@144 66. In the following question, three of the given
62. A group of 630 children are arranged.in rows four numbered figures (A), (B), (C) ahd (D)
for a group photo session. Each row contains are alike in a certain way. ChOO?P the one
three less children than the row in front o 00 which is different from theseath:ee Sy
What number of rows is not poss1ble" U‘J .‘ol et e <1 it AR ﬁ(-gf},l
g ®) 4 7 Lté (B). (C) 3 (D) ¥ ¥ d vp Fif¥ea
m«/ W o ¥ aw g gd o g
\ (©) 6 (D) 5 /‘? apREi A P -
@ﬂﬁgqﬁaﬁw$m63oaﬁ‘rzﬁww ' T=
il o s O I <1 95 [
¥ 1 o 3 ey < . 2
%lﬁﬁ?ﬂqﬁﬂ'ﬂ?aﬁquﬁ%‘? L. “ (A) ‘B 4 (©
. (A) (B) 4 Q »I1 \_m{ , (BD
) 6 . Os g e <y\. ©c (D) B
- 63. If by arranging the letters of the word j 67. If in a ceItain coc,l’c ‘l‘anguage “DELHI” is
LASBEBLA, the name of a game is formed, q; soded as ) CCIDD”, “SIGHT” is coded as
- Al siloi fthe wor dso # RGDDO?”, then in the same code language
what are the first and last letters o “BOMBAY” W]“ be coded as -
formed? s A (A) AMJXVR (B) ANKYUR
A s, L (B) B, L E ) AC) ANIYWS (D) AMIXVS
©L,E @L,S ‘ aR v ARET @ w1 ¥ “DELHI" 31 e
If§ W LASBEBLA & 31RI & @qaRed “CCIDD” &, “SIGHT” &1 @ “RGDDO”%
F W AR A F1 AW g g, A @ WRWﬁ“BOMBAY”WWW.
UYPR 99 TR B U R &R T .
e (B.L Ay (A) AMJIXVR (B) ANKYUR
Al A o (C) ANIYWS \PrAMIXVS
©CL,E . ) , 68. Which of the following letters is 14" to the
64. How man‘y times in a day are the hands of a right of 6% letter from the left j in the English
clock straight? alphabet? »
(A) 22 times (B) 48 times (A) P “. + (B)R PP ¥
(C) 24 times (D) 44 times ©T (D) w e
@ﬁqﬁa@aﬁwmmmm Frfefed & & P W1 R ajiely qof mren
# Bl 57 ¥ 4G ¥ B3 HER D I A 1437 39 _
(A) 22 R (B) 48 R (AP (B) R . '
(G) 24 aR (D) 44 R \m{ T gg_@(ﬂ)w\—‘
118A - 38 Postionty. 7 By e
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e

ﬁmw

70.

QT forw o i

0"«3 20 (A8 (n
* s

a,\
'q
v

){w//ﬂ
72

Ners I

71. Which of the following

Fm&z the’ missing bcr from the given

altcmauvcs -

‘}f‘*f?ﬁmwaﬁﬁ‘ﬂ—

O A
0‘ 5

&

13 | 22

{
(B) 71 q/
(©) 78 (D) 66 v
In the question below, three statements I, II,

and 111 are given. You are required to find out
which of the given statement is / are sufficient

to answer the question.- &
How is Q related to T? .

I. M and R are brothers. ;
I1. S has two sons and one daughter, R bcmg

one of the sons.
IIL S is the mother of T and arrled to Q. @_‘
(A) II and III (B) Tand I .

(C) Only III (D) I and III K N

%ﬁvwm#fﬁﬂmﬂlnmmﬁ

#| Uy I8 ar o © & feg e

¥ ¥ BH-ET/q YT T BT S (ﬁr»

o gata 2 /21 Q PN —
gt

I-M 3RR 9§ 21 o
Cs @ 21 ga R @ g

(D) 18R I

rational number lies

N\

‘
" 9 ‘

O

G \ﬁs‘;;fj‘ ‘}3
? \)ts
/

72. Mr. X 'walked 75 m towards North, Then he

o -
5" (C) North-West |

turned to left and walked 25m. He turned left
again and walked 80m. Then he turned to right
at an angle of 45°. In which direction was he
moving finally? . '

(A) South-West . (B) North—East :

(D) South-East

T

/afrquwﬁahwsﬁmamﬁwaa

%

(A)

maﬂ?gaeﬂvzsﬁﬁamlmagm
3R 71 3R 80 ey e | R 98 TRl AR
45°a%zﬁ’mu'\r3@nmﬁag%wﬁwg
Il 605
(B) STR-Gd
(D)E.'fEWT—‘Ié

\

qﬁfﬂ -,»fy

IaR—ufiad

73. ‘Find the number of triangles in the iven

figure — QV

fg g for 3 fz@—fﬁ calrel ﬁfﬁm&—q
b=

(A) 22 (B) 24 . 5,

(©) 18 um/;o

74. How many such pairs of letters are there in the

X (g 2 51
@3
75.

word ‘FOREIGN’, each of which has as many
letters between its two letters as they have
between them in the English alphabet?

a2 (B) 1
103 (D) Nil

‘FOREIGN’ W& & e} @ fper ™ g"T
el

& R ma S & R €, R
¥ g9 99 8 &2

(D) Bg e
One morning Udai and Vishal were talking to

- each other face to face at a crossing. If

Vishal’s shadow was exactly to the left of

between — and — =29 : , b n o e e i
_ g« e 8 ven Udai, which direction was Udai facing?:
(A) Z1 (B) = "" 7 E - (A) South .~ (B) East
. 3, \ bt .
i (c) 13 - (D) : (C) North (D) West -
45 —d
= ve g9E 9¢d R e e dRE W
ﬁmﬁfﬁs‘lﬁﬁﬁaﬂﬂﬁmm AT 9| B ¥ 9, AR fEma @
‘2$ﬂwﬁuﬁ%”' g~ " o ﬁmma%é‘raswﬁ ,ﬁr\a‘rmm
ey i ® =7 o ' o,!- 79 fea feam 4 ar?
(A) N . -9 Cb / / w (B)
. _3 K 1 - ;
(D) 1 M N ; 7 (D) qﬁﬂ"f V \/'\e
.‘ / ; -
' . Page 11 of 16 ;
118A - &8 \W '

Scanned with CamScanner



9
4.2
76. What will be the difference between the first
digit of the highest number as well as of the
- lowest number after the positions of the first
two digits in each number of the following
series 738, 429, 156, 273, 894 are reversed?
A) 4 ® 7 (@© 5 (O .6
Frefefaa siaan 738, 429, 156, 273, 894 F
AT W # e 2 Yol B wwer agw
P R I T =T D TR 3P AR T
BI A& S Ugel 35 B 99 T A} T

e
® 4 B 7 © 5 © 6

@ Equations are solved on the basis of a certain
system, on the same basis find out the correct
~ . answer for the given equation —
If 5472=9, 6342=6, 7584=6, then 9236 =7
Q.5 ® 4 © 2 (D 3
THHR B 75 9T goreh 3 MR W® e
fbar T 2, s s W Ry TU wHERr
BT e TR AT PIAY — ‘
Afe 5472=9, 6342=6,7584=6 9 92367
A5 B -4 () 2 @ 3

78. When 70 is added to 70% of a number, then
obtained number is equal to 70% of 150.
Number is equal to - '

(A) 100 (B) 70

(©) 50 (D) 35 :

9 UF W=T B 70% F 70 ST AT 2, ar
T HE=T 150 B 70% B SR1ER &8 e 2

AGUCHE N ° =
A e L O

-

(A) 1
\Jﬂégg (D) 35
~79. 1If the 25™ of October in a year is. Thursday,
_ then number of Mondays in that month is
equal to — 3 - P g
(A 5 @B .4 (€©) 3 (D 6
e v a9 F 25 sEcEr TOIR B, o S
WE I WHAR &) WA SN § — .
5 @B 4 () 3 (D) 6
80. Choose the Venn diagram that depicts the
correct relationship among Males, Fathers and
Doctors — ,
S¥ I ARG FT A9 PY W _gey, A sk
Rifms & wen <t =1 wE w0 & qrr & —
. (A

"”@Q B

81. What will come in place of question mark (?)

in the following series? :
P3C, R5F, T8I, V12L, ....7.....
(A) X170 (B) X17M

& ©y170 (D) Y17M (

?*:l) fPrefeRaa Soft ¥ yearas e () & ®=IF

O W T IY? _

5 P3C, RSE; TL VI2L., .l

— 170 __(_B__)_ X17M

= (C) Y170 (D) YITM

82. In the question given below two statements are

given, which are followed by two conclusions
I'and IL. You have to take the statements to be
true even if the statements are at variance with
known facts. Make a careful study of all the

(904 conclusions and decide which conclusion

g logically follows the given statements even if

(N they seem to be.at variance from commonly

O  known facts. N

&; Statements: All cakes are desks.

e ' All desks are toffies.

o Conclusions: 1. All toffies are cakes.

II. Some toffies are cakes. .

(A) only conclusion I follows

¢ (B) only conclusion II follows

g;-" | (©) Both conclusions I and II follow by

o~ (D) Neither -conclusion I nor conclusion II

follqu’ -

R Y e 4 2 et 2 T & foreay

-,

0
by

( @ (D)",__q

Page

7 118A- 38

Bl
B SESAIUREIEE D I 1) e N
| zmwgﬁﬂsﬁwﬁmm
e AT tmﬁﬁwaﬂw
QP W S ¥ W qen 4 oy ki
co FEEamdl
= TP S § :
o S¥ St ¢
|22 - frem Iwm—mﬁﬁ?,@
‘%’ Il B i 3 3§
0 A B3m P 1R ey 3
(C)Wlﬁ?ﬂﬁwaﬂﬁ%
(D) 7 @t fors I 3R =7 & I sreereor
T ey ORI
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S::::l:m:hg\(:/ss ijg;:gl:g: based on ple-chart 86. A question and two statements are given
e of 'a famlly in below. You have to decide which statement is
various fields - sufficient to answer the given question.
I 10% ; How many doctors are working in a village?
Statements: I. There is one doctor per one
thousand villagers.
I1. There are 20 wards in the
.village. Each 'ward has
number of doctors equal to
5% - total number of wards.
: = 4 g . (A) Only I is sufficient -
83 '(I:‘)ez% °ntral l gle of the( g) f;sld is equal to f:')) (B) Only Il s sufficient
(C) 1.8° ' \ (D) 18° ?\l) (C) Both I and II are sufficient together
' o (D) Neither I nor II is sufficient %
mmssﬁmwﬁwqﬁ ARG W= Wwaﬁ?a‘rzﬁm'—ﬁ%{ﬁﬁﬂﬁ?lm
g e & f RA T A B S B
Ry BYaT FUe T T
v AT & fea fRiftead PRIk 14
e [- SR U g A W) P
CRfymw Bl L T
[ u % 20 ar$ & wd® a8 A
| R & |
(A) BT 1 T © e
L By Sae 11 wara 2 E
- 3BT (©) 13 11 T e T ¥
(C)1.8° 18° _ (D) 7 @ 17T & 11 9Tl |
84. If the family expenditure. is ?'SQQOQPthe 87. Select the correct alternative that shares the
difference between the expenses of (B, C) and(¥) same relationship as the given pair below -
(F, E) is equal to - ' ; 19 g% QxM;13x17::DxH:? ~ ey
(A) T 448 (B) 4380 \ﬂo o (A 4x8 - (B)4x6
(C)T4580 (D) T 4480 ,‘“ o ©) 6x6 (D) 8 x 4
uﬁqﬁmmmmssoooﬁmmcﬁ? ﬂsﬁﬁmmmqﬁa’rﬁﬁﬁvwa‘r@
‘aﬂ'\'(FE}?BERIHﬂWER’Tﬂ'\’? ™ & T W A Bl & -
~-(A)448? (B) 4380% QXM..1.3><17..D><H ?
: (C) 4580 z (D 80% ) (A)4x8" (B) 4x6
85. USC some rule and thcn find Ollt the I’lghtm 88 (C) 6x6 (D) 8x4
| cell? Find the largest number of four digits wh1ch
;fgoég @eﬁga%k g‘{ﬂ'lT m?ﬁ ﬁaﬁ X $N gives remalgnder 4 when dmdedg by each
‘WH@TWW? ‘.._ 6,8,10and 127
4 ] O (A) 9964 (B) 9984
P i (C) 9944 (D) 9946
, N s & a:éft—ﬁ—a‘e?r @ o AR
! . R 6,8,-10 3R 1299 W fawifora &
72 A R 4 g9ar 2|
(A) 33 ; g 9964 - (B) 9984 &
(C) 145 (D) 18 s (C) 9944 (D) 9946
i Page 13 of 16 (Qﬁ@ > : '
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89. Select the correct alternative that shares the
! same relagionship as the given pair below -
Fog 7 Visibility : : AIDS: ___ 7

(A) Resistance (B) Health
(C) Death (D) Virus
TE e o1 797 B o Y Ry v o

D T GEY TS BT & —

DS : GUgAT ;U 1 P
(A) (B) WrReg.
(SY (D) qravy

o x/'.2+\/§.\/2+\/2+\/§.\/2+\/2+\/2+~/§
‘/2_‘/2'*“‘/2"“/5 is equal to -

(A) V6 B2 °
©1 D4

\/2+J_ V2412443 \/2+ 2+ 2+
- \/2—\/2+\/2+\/§ TR & —

(A 6 (B) 2
©1 (D) 4
9. A man completes half of a trip at 30 miles per

hours and the other half at 60 miles per hour ;

If the whole trip is 20 miles, how much time

%2 ABCDEFGHIJKLMNOPQRSTU
VWXYZ '
If the ée::ond half of the English alphabet is
reverse-d- then which letter will be 4th to the
right of 20th letter from the right?
- ME ®K
©F (D) U

ABCDEF@;H’@,_MlNOPQRSTU

VWXYZ
A ofioh afarn @ fadva S Y S
. Rar W, @ @Y @ sER T 9@ 209 @R

D < W e 2

©F (b) U
93 Fmd the odd one out — __
(A) G20M (B) T36P
(C) D22R (D) V24B
" fww A o —
. \}‘é::M : (B) T36P
' (C) D22R (D) v24B

94. The value of k for which quadratic equation kx
(x 2)+ 6 0 has equal roots are -

will he take to complete the trip? A) 6 R (> PN /0 (}!o‘//
(A) 60 minute . (B) 75 minute B 26 o ﬁ/@%’ ™ i
(C) 45 minute (D) 30 minute :s: :\/g N %ﬁ")«% <
Wamﬁwumaﬁmﬁfgﬁmwﬂasﬁ N e
k &1 39 R feam IR
aé@mamﬁiﬁm!ﬂauﬁrﬂéﬁqﬂf kx (K= 2)+ 6 =0 BT T51 TR & _
m%;uﬁ*{ﬁmzoxﬂaaﬁa‘na‘ra—g (A) 6 kk/ /p .
- _ : e
: aqﬁwq;nfaﬂ#ﬁﬁmmmﬁm? (B) 24E o ;\L““ ?‘/ \/,P
.(A)60ﬁ‘-l§ (B8)7 & ©)3VE ,\\[3{\/’ /\‘.\/ ¥
(C) 45 firre 30 frre f“ s P s B
Sk
118A"3"g P Page 14 of 16
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95. There are 120 students in a class, who read
Maths or History or English. It is known that
no student can read all three subjects. 24 read
only Maths and History, 8 read only History
and English and 21 read only Maths and
English. 32 read only Maths and 13 only
History. If 9 of the students who read only
Maths start to read all three subjects, then find
the percentage of students who read History?

(A) 50% (B) 60%
(C) 40% (D) None of these

(A) 50% ®) 60% .,
(C) 40% O o

96. |f A denotes —, C denotes X, D ‘denotes +, E _ 3
denotes +, then 14C3A12E4D2=7 - )
(A) 32 (B) 28 ¢ C)
(© 17 () 6 \\3—};/ ‘

afe A @1 aef -, C @1 3 x, D &1 a7k 4,
E of +& 0 14C3A12E4D2=7

7) (B) 28 ¥
© 17—, 06 5

97. If ‘sky’ js called ‘sea’,'sea’ is called ‘water’,
» «air’ is called ‘cloud’

‘swater’ is called ‘air’, "
and %m@wer’, then what do we
_ drink when tirsty”

98. Find the angle between the hour hand and th_e

minute hand of a clock, when the

3.25-
A 475" (B) 45° ¥
© 40° (D) 45%" 7 &
7 TR 25 e R e R A 1 T
3 w7 fray o &1 o7 A ©
ﬁ/; ) 45
, (D) 45%

(©) 40°
.99, Study-the following information
the question given below it. x B "
K, G and H areiintelligent. K, R and J are ,
hardworking. R, H and J are honest. K, G qnd
f the following . -

J are ambitious. ‘Which © !
l [ r hardworking but

and- ahswer

persons is neither honest no ,
is ambitious? .
(AR (B) H
©G (D) K
PrefoRad TBN BT aqmﬂé X AN SHD
) frg g ¥ @ W | _
Y K, Gk Hgf&™ € 1K ai I e 21
.~ RHR arER €1 K iR J AEaTdpiel
| R af w0l
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100 A cuboid has six sides of differe ours. G-
The red side is opposite to black,?ﬁgb side =

is" adjacent to white. © The brown side is
' adjacent to blue. The red side is face down.

Which one of the following would bg:ft;lc

opposite to brown? | :
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() air (B) sky [k (&) Blue (B) Black (}@
(©sea = (Owa - (C)Red (O) White . B
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